MA 161 SOLUTION KQ{ EXAM 3 Naovember 10, 1998

1. Let f'(z) = (x — 1}{z — 2)%(x 3)e*" ©*% Consider the following statements.
[. f has a relative maximum at z = 1.
IT. f has a relative minimum at £ = 2. Then

e I 2 3 o A. T and IT are both troe.
- X . .
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2. Let f'(x) = (x — 3)=®. Then the graph of y = f(x) is concave up when
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3. Find the point on the graph of y = ./x that is closest to the point (4,0). The distance
from this point to (4,0] is
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4. A shed is to have a square base, a Hlat, horizontal roof, and a volume of 800 cubic feet.
The floor costs $6 per square foot, the roof $2 per square foot and the walls 85 per
square foot. The cost of the cheapest such shed will be

gm = fj S— Ej.: _%2_ @524“0

Y . B. $2000
C = 5,}:1 + 2% + g(‘fijj C. §1600
% - gy 203y o D. $1200
E. $800
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5. The graph of the function looks most like
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6. The graph of ln{c’! + 1) looks most like
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I. F(x) is everywhere increasing
1. F(0)=0
M. F{-1) = F(1)
Then
T. Fild= Krsimx 70 = T
=0 = T
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W fhnth i8 an eV feu.

(1’ + sin? t)dt. Consider the following statements:

A. I, 11, III are true

1 and I1 are trus; I11 is false
C. I iz true; 11 and II1 are false
D. IT iz true; 1 and IIT are false

E. 111 iz true, I and II are false
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9. What value of @ makes the following equation true for every continuous function f7?

f:;’{t}m—ff[:}dh[_um}de.

4 . = (¥
> [I{m&k + Iq fodr = | fifli*;:

4

q _

= (Vs _[1 fue) & E:
1 _

E. No value of a

= a=f-4a
= 2a=4 = a=1
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13, The area betweeu the curves y = x® and y = 5 8
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